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@ 44741 the facto:s of (x + 1)’ (y—-1)2are (x+y) and (x—y+2). @ of a hombus. it's area corresponds
to the expression (_252_1%&2%_) m2

_Which of the following polynomials have (x + 1) as a factor? .
What first degree binomials represent

the length of the diagonals of the rhombus?

B(x)=2x*+2 C(x)=3x*-3 D(x) =X? = xy+ X-y
- 5 } T T — - (Reminder: Area of a rhombus: 9—21’ )
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Two 1sometric rectangles have been drawn A

in rectangle ABCD shown at the right. The T

area of rectangle ABCD is given by the b

expression (ab + 2a + 5b+ 10)m2 l

What are the dimensions of the two e -
isometric rectangles? a o \Jg\
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A 16 cm by 3 cm rectangle is cut out
of a right isosceles triangle. 1{
8xcm
a) Which expression corresponds
to the area of the initial triangle? 3cm 16cm
9xecm

b) What is the area of the rectangle? /
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c) Express the area of the shaded surface as a product of factors. )

P P —
— — —

b) 2a?-4a-16

Which of the following polynomials have (x + 2) as a factor?

M(X) = ax + 2a + 2bx + 4b N(x)=3x+6 O(x) = 2x2+ 2x
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The front of a chalet located at the entrance
of a park is represented by the figure at right.
The area of the triangular front is given by

the ex;:'re.«ssicmlax2 + ;5" s 7) m2.
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A volleyball court is set up in T
a public park as shown at the right.
The area of the park corresponds to e 4v
m)t’oression (35uv + 42u + 100v + 120) m2. l
Volleyball
Court

AN OTHER.
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What are the dimensions of the rectangle
that correspond to the volleybail court?
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Factor the trinomials using the method of your choice.
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Find two first degree binomials that comespond

to the length of the base and the height of the
triangle. (Use the technique of completing

v a) x3+5x+4
ot yeu
the square.)
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The drawing at the right depicts a flattened
cardboard box whose base is square in shape.
The units of the lengths are in centimetres.
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a) What is the height of the cardboard box?

b) What is the area of the surface that must
be subtracted from the original square
to obtain the shaded area?

¢) Determine, as a product of factors, the algebraic
expression that corresponds to the area of
the shaded surface.

A garden is planted in one comer of a rectangular
field. The area of the field is given by the expression

(2x2 +15x +28) m*.

What is the area of the rectangular surface
occupied by the garden?
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A UNIQUE CREST
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of the nature club at school is
depicied at the right. The area of the given
parallelogram is provided by the expression

{?i’_;_sx_"’l) cm2.

Height,
Find two first degree binomials that correspond l

to the length of the base and the height Bau
of the parallelogram. "~ "
(Use the method of completing the square.)
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the area of the lawn.

c) Determine, in the form of a product of factors, the algebraic expression that corresponds to

is located in the blueprint of a house. The total
a) Which expression corresponds to the area of the lawn?
b) What is the area of the base of the shed?

The drawing at right shows where a garage
area of the house corresponds to

are 3x m by x m. A shed is installed

whose dimensions are 3 m by 4 m and

The dimensions of a rectangular lawn
the rest is lawn.

the expression (ab + 6a + 8b + 48) m2.

What are the garage's dimensions?
l>) What values should be assigned to the variable (n ) so that the product (P +1)(n+2)(n-3)

. THE SHED

@ ® ) Show that expression (x2— 25) + (x— 5)? is equivalent to 2x (x— 5).
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